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QUESTION 1
On the model curve plot, different options allow you to visualize: Note: There are 2 correct answers to this question.
A. Exact profit values for a point for all the displayed curves.

B. The curves for the different profit types: Detected, Lift, Normalized, and Customized. For more information on profit
types, see the related topic.

C. A web server (Apache Web Server for example). See the sections below to install Apache Web Server

Correct Answer: AB

QUESTION 2

The selection of the degree of the polynomial depends on the nature of the data to be analyzed. The recommended
method is to:

Note: There are 2 correct answers to this question.

A. First generate a model with a first order model. In the large majority of cases, this degree will be sufficient to
guarantee a relevant and robust model.

B. The system account of the authenticated user, this is the default with the system authentication.

C. A different system account, as specified in a "User-Mapping" file. This file will specify, for each authenticated user
name the name of a system account to be used. This feature is available only on Linux.

D. Test the results thus obtained with models of greater degree, if the performance of the first order model seems
inadequate

Correct Answer: AD

QUESTION 3

Predictive Power, Prediction Confidence and Model Graphs On the model graph plot: Note: There are 2 correct answers
to this question.

A. Produce deep analysis of the data using different visualization techniques, such as scatter matrix charts, parallel
coordinates, cluster charts, and decision trees.

B. Of the validation dataset of the perfect model and that of the random model". As the curve of the generated model
approaches the curve of the perfect model, the value of the predictive power approaches 1.

C. Of the training and validation datasets the training dataset and that of the validation dataset "divided by "the area
found between the curve of the perfect model and that of the random model"

Correct Answer: BC
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QUESTION 4

The Periodic with testing at the end strategy distributes:

Note: There are 4 correct answers to this question.

A. Three lines of the first 4/5 of the initial dataset are distributed to the training subset.
B. One line of the first 4/5 of the initial dataset is distributed to the validation sub-set.

C. If the entire 4/5 of the initial dataset is not yet distributed, distribution operations begin again at step 1. Otherwise, if
the entire 4/5 of the initial dataset has been

D. distributed, distribution operations go to step
E. The final 1/5 of the initial dataset is sent as a block of data to the testing sub-set.

F. The name server and the server will be assigned a specific TCP port. By default, the startup scripts we use fix them,
and they should probably set properly depending on the network strategy

Correct Answer: ABCD

QUESTION 5

The term model carries many different meanings depending on its field of application. In data mining, a model describes
and explains the relationships that exist between input data (one or more target variablest allows one to predict and
explain phenomena, or to describe them. To quote George E.P. Box, "All Models Are Wrong But Some Are Useful” from
"Robustness is the Strategy of Scientific Model Building" in Robustness in Statistics. Eds., R.L. Launer and G.N.
Wilkinson, 1979, Academic Press. A model that has satisfactory performance is one that possesses both:

Note: There are 2 correct answers to this question.

A. High explanatory power, that is, sufficient capacity to explain the target variable. This explanatory power is indicated
by the predictive power of the model.

B. High robustness, that is, sufficient capacity to repeat the same performance on new datasets containing observations
of a similar nature to the training dataset. This explanatory power is indicated by the prediction confidence .

C. Both of these ports must be accessible from the client machine. For example, network firewalls should allow
communication on these ports between client machine and the servers.

Correct Answer: AB
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